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401 AlIEH 2 20HY| 1,116,874 1,282,690 A 165,816
01 Al& Hl 1,111,500 1,277,316 A 165,816
OANEHUAANS(HEDS 5HA) HUEAR
= 133,441,000 133,441 154,962 A21,521
OANSHUAALE HIGHEEAH(14MA)

18,910,0002 18,910 23,000 A4,090
OSXHBRIMAAA HIIOHMAEA (4500 A)

17,590,0002 17,590 23,000 A5,410
OYAND E4822AH(L=137m, B=35m)

430,167,000 430,167 500,000 A69,833
O"ED 224222 AH(L=44n, B=20m)

168,954,000 168,954 173,000 A4,046
oW B282TAL AAIAHHl 10,870,000€ 10,870 23,354 A12,484
OANES HH <L SX82% 23,626,0002! 23,626 30,000 AB,374
oL 2 HY WRESELZA(IHA)

34,608,0002! 34,608 50,000 A 15,302
00N 22 W B4E 22 AHL=120m, B=5.0m)

23,334,0002 23,334 50,000 A26,666

ARD XNENRI| AY 1,133,154 1,082,954 A 149,800
401 AlEH 2 204Y| 1,133,154 1,082,954 A 149,800
01 Al&HI 1,127,036 1,276,836 A 149,800




2N AR HEnsS
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I pELHS 98 ZAJIREY
ool 2 ael (e dd)
A BB -HAEAH) - MRAY - BYS Ol &k 24 A HRsZ
OsF 12l 0tSot2 IM I3 AH(L=550m, B=3~
4m) 65,000,000 65,000 80,000 15,000
Ogu sl NYZ HEIBAH(L=250m, B=
3.0m) 31,000,000 31,000 50,000 219,000
OHLS SIUENS~-RYSZ2t ZTFBAH(L=20
Om, B=5~6m) 23,000,000& 23,000 30,000 A7,000
200 is1el ng ¥ Y2 ZFIAHL=2
,500m, B=5.0m) 0 0 70,000 A70,000
OOl Siel D2t R LIIBAH(L=1,200
m, B=3.0m) 55,000,000 55,000 60,000 A5,000
OYEZ10t GAIZ 112812 T ZAH(L=150m, B
=8.0m) 35,000,000 35,000 40,000 ~5,000
Hap SUzel 0t2erd IM IS AHL=350
m, B=3.0m) 12,000,000 12,000 18,000 26,000
ODIY a3l S2EY L 2 IS A
(L=450m, B=3.0m) 55,000,000 55,000 60,000 ~5,000
O4ETd & ZZHUIBA((L=200m, B=3.0m)
23,000,000& 23,000 27,000 24,000
OGt4EZ FFUU~-HM22&W Ol22EH A
M2J| B AH(L=950m, B=6.0m)  72,000,000% 72,000 85,800 ~13,800
272 UANLAY 120,632 330, 132 £.209,500
< 40,000 40,000 0
= 10,000 0 10,000
Al 70,632 290, 132 ~.219,500
401 Al HI LS THBI 120,632 330, 132 £.209,500
& 40,000 40,000 0
z 10,000 0 10,000
Al 70,632 290, 132 £219,500
01 A& 119,912 329,412 209,500
OMAE & S2HY AREX W 29,912 249,412 ~219,500
OEX 26,500,000& 26,500 246,000 £.219,500
HEZ10t 252 ZZ S AH(A=245m)
10,000,000 10,000 0 10,000
z 10,000 0 10,000
FUSEAY 1,096,194 1,120, 194 24,000
401 Al S HI 22Ol 1,078,194 1,102,194 24,000
01 Al&H 1,075,548 1,099,548 224,000
ODI¥E Sahin Fe TZFHIBAHL=1,300m,
B=3~4.0m) 155,000,000 155,000 170,000 15,000
onl#e Jlg2el S22 EIIAHL=600m, B=2.
Om) 145,000,000 145,000 150,000 25,000
OMEE 40N 2@ SZEEZAH(L=200m, B=
2.5m) 26,000,000 26,000 30,000 24,000
M- Mool Mzs 28 4,282,174 3,948,071 334,103
s 1,700,000 1,100,000 600,000
Al 2,582,174 2,848,071 /265,897
THEH - THaH ol e 2,542,547 2,036,717 505,830
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M WL - Moh2 Mz 28
Sl THH - THol ol (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HIDE2
= 1,700,000 1,100,000 600,000
Al 842,547 936,717 A94.170
Mt 2 THol 22 791,667 901,627 A 109,960
401 A& HIZ 201 I 618,740 728,700 A 109,960
01 A& HI 614,330 724,290 A 109,960
A AR 2L NS AIAE ALY 614,330 724,290 A 109,960
OAI & S AtH| 600,640,000& 600,640 700,000 A 99,360
O& A& 13,690, 000& 13,690 24,290 A 10,600
e 2 el Zel(2X) 1,750,880 1,135,090 615,790
£ 1,700,000 1,100,000 600,000
Al 50,880 35,090 15,790
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O& A€ AHHI 14,510,000& 14,510 15,950 A 1,440
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401 Al HIZ 201 8] 1,192,319 1,359,646 N167,327
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HY2HAH (MY HEnE) 270,034 278,376 N 8,342
Jl2Z3dl 49,480 57,822 N 8,342
JlE&l 49,480 57,822 N 8,342
201 ¢er24l 25,950 34,292 A8,342
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oORER=S 2,965 10,300 AT,335
oggred# 270% = 5,000 1,350 2,970 A1,620
osJl=H 1,900& * 850 1,615 5,700 A 4,085
@)=l=y= 0& 0 1,630 A 1,630
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